1)
Question No: 1-5
The following table shows the percentage (%) distribution of five different types of Cars (A-E)
produced by a Company during two consecutive years 2019 and 2020. The total number of

Cars produced was 4.50,000 in the year 2019 and 5.20.000 in the year 2020. Bazed on the
data in the table. answer the questions 1-5:

Year-wise Percentage Distribution of Production of Cars

Year | Type of Car Produced (in %)
A|B|C|D|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

fopefefes grofl 2019 3 2020 % AR 2 98] & 9T U FOE F g1 IS E (AE) & 5 fum
url & uider (%) famm #1 gufn 21 94 2019 4§ zenfer FE1 6 Fe HE@N4,50,000 e Ed9 2020
4 5,20,000 = #Eol | fed 7 sTesl, Wosmaiie -5 79 & gw # I gt

F1 o IA9TEA 1 faatn &1 gy an gfaee Ee

=

ay Frqifed & @ weRr (afqem H)
A|B|C|D|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

What was the difference in the production of number of Tvpe-C cars between 2019 and 20207

(1) 5000 (2) 7500
(3) 8500 (4) 2500

2019 370 2020 % 9§19 C THT % &A1 & S8 & I9ET 0 A 3oy

(1) 5000 (2) 7500
(3) 8500 (4) 2500

[Question ID = 10240][Question Description = 101_00_General_46_0CT22_Q01]
1. 1 [Option ID = 10957]
2. 2 [Option ID = 10958]
3. 3 [Option ID = 10959]
4. 4 [Option ID = 10960]

2)
Question No: 1-5

The following table shows the percentage (%) distribution of five different types of Cars (A-E)
produced by a Company during two consecutive years 2019 and 2020. The total number of
Cars produced was 4.50,000 in the year 2019 and 5.20.000 in the year 2020. Bazed on the
data in the table. answer the questions 1-5:

Year-wise Percentage Distribution of Production of Cars

Year | Type of Car Produced (in %)
A B C D E
2018 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%




fpefafas wrofl 2019 3 2020 % #EMAR 2 967 & 20 T FA & g1 3G FH (AE) % 5 fym
gl @ giaera (%) fasm &) swien 21 99 2019 | TENfed R F EE S 4,50.000 HE E9 2020
4 5,20.000 = #Roll | f63 7 siesl, W osmaiie -5 79 % gw # I gt

F1 & IA9Te T faan &1 gy an gfaee Eee

=

Y Frqifed & @ weR (afqem H)
A|B|c|D|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 256% | 10%

If 85% of Type-E cars produced during 2019 and 2020 together are sold by the
Company. then how many Type-E cars are left unsold by the company?

(1) 21825 (2) 29100
(3) 25200 (4) 21300

2019 #T 2020 F A T ITEA A F E 90 F1 85% o1 g7 @0 A 0 2, 76 w9 w E B

(1) 21825 (2) 29100
(3) 25200 (4) 21300

[Question ID = 10241][Question Description = 102_00_General_46_0CT22_Q02]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]
3. 3 [Option ID = 10963]
4. 4 [Option ID = 10964]

3)
Question No: 1-5

The following table shows the percentage (%) distribution of five different types of Cars (A-E)
produced by a Company during two consecutive years 2019 and 2020. The total number of
Cars produced was 4.50,000 in the year 2019 and 5.20.000 in the year 2020. Bazed on the
data in the table. answer the questions 1-5:

Year-wise Percentage Distribution of Production of Cars

Year | Type of Car Produced (in %)
A|B|C|D|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

frefafas grofl 2019 3 2020 % =FMAR 2 961 F 209 T F9EA & g1 3T FH (AE) % s g
ugrl & yiduE (%) fammm #1 gufa 21 94 2010 1§ enfed wE1 1 %6 qE@4,50,000 6 E9 2020
4 5,20,000 = #Eol | fed 7 sTesl, Wosmaiie -5 79 & gw # I gt

F1 o IA9TEA 1 faa &1 gy an gfaee Eee

=

Y Frqifed & @ weRr (afqem H)
A|B|C|D]|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%




If the number of Type-A cars manufactured in 2020 was the same as that of 2019, then what
would have been itz approximate percentage share in the total production of 20207

(1) 11% (2) 13%
(3) 156% 4 9%

afz A IF 1 FR 1 H2ed Ha FEm 2020 3 5 T 97 2019 F oW o, 79 2020 F T 30
T TYFT T WiaEE = A

1 1% @ 13%
@  15% @ 9%

[Question ID = 10242][Question Description = 103_00_General_46_0CT22_Q03]
1. 1 [Option ID = 10965]
2. 2 [Option ID = 10966]
3. 3 [Option ID = 10967]
4. 4 [Option ID = 10968]

4) .
Question No : 1-5

The following table shows the percentage (%) distribution of five different types of Cars (A-E)
produced by a Company during two consecutive vears 2019 and 2020. The total number of
Cars produced was 4.50,000 in the year 2019 and 5.20.000 in the year 2020. Based on the
data In the table, answer the questions 1-5:

Year-wise Percentage Distribution of Production of Cars

Year | Type of Car Produced (in %)
A B C D E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

fopefeafam wrofl 2019 3 2020 % #FAR 2 G671 & 290F T F9A & g1 3Eied w0 (AE) % S fum
uFrl & yldem (%) famm F1 gufn 2) 99 2010 § zenfen FE1 A FE HEN 4,50,000 FHEoEd 2020
4 5,20.000 = #wvil § fad 7 sfeEl, W SEE 1-5 95w W) & 39 )

&1 = T FH T &1 gy an gfaee e

x

a9 Fraifea @R o weEn (ufasm H)
A|B| C|D|E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

What is the ratio of number of Type-C cars produced in 2019 to the number of Type-D cars
‘produced in 20207

(1) 29 .27 {2y 23:22

(3) 27:26 4) 2723

78 2010 T Farieg CLushr = Sl =i Sl =0 =39 2020 § 30729 D-UFE =1 01 =1 @28 5 °91h
ST T E?

(1 2927 (2) 23:22
i3) 2726 4 27-23

[Question ID = 10243][Question Description = 104_00_General_46_0CT22_Q04]
1. 1 [Option ID = 10969]



2. 2 [Option ID = 10970]
3. 3 [Option ID = 10971]
4. 4 [Option ID = 10972]

5) .
Question No : 1-5
The following table shows the percentage (%) distribution of five different types of Cars (A-E)
produced by a Company during two consecutive vears 2019 and 2020, The total number of

Cars produced was 4.50,000 in the year 2019 and 5,20.000 in the year 2020. Bazed on the
data in the table. answer the questions 1-5:

Year-wise Percentage Distribution of Production of Cars

Year | Type of Car Produced (in %)
A B C D E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

fopfeafaa wrofl 2019 3 2020 % #FAR 2 961 & 290F T F9A1 & gr1 3TTed w0 (AE) % S fum
uFrl & yidem (%) famm F1 gufn 21 94 2019 § zenfen wE1 6 FE 5@ 4,50,000 FHEoEd 2020
g 5,20,000 = #rvll °§ fad 78 sfwEl, WOSEE -5 99 & 9 & 3 )

H1 % T =1 Taam & oy an gfaee T

=

aY IrqTed &1 @ eRR (afdem H)
A|B| C| D | E
2019 | 15% | 25% | 30% | 10% | 20%
2020 | 10% | 30% | 25% | 25% | 10%

If the percentage production of Tvpe-B cars in 2020 was the same as that of 2019. then what
would have been the number of Type-B cars produced in 20207

(1) 112500 (2) 120000
(3) 130000 (4) 135000

gfe B WeRE 1 @Hl o1 a9 309med 2020 9 2019 % #9E @ # 79 2020 °§ 3fed w1 & B wan
oh! HET w1 TH EET Y

(1) 112500 {2y 120000

(3) 130000 (4) 135000

[Question ID = 10244][Question Description = 105_00_General_46_0CT22_Q05]
1. 1 [Option ID = 10973]
2. 2 [Option ID = 10974]

3. 3 [Option ID = 10975]
4. 4 [Option ID = 10976]

Topic:- GP_SH1_S1_B

LS i Bombay X iz a non-profit MOOC platform developed by IIT Bombay using the open

source platform

(1) Joomla (2) Saka

(3 Drupal (4) OpenedX



oF HF TZEE T I FA AL, 9 AW & T4 g A A W Ao e -
ATIFAT TR AT 3 °1 (9F) wewE 2

(h === (2) =re
(8) gH (4) F=iI T

[Question ID = 10245][Question Description = 106_00_General_46_0CT22_Q06]
1. 1 [Option ID = 10977]
2. 2 [Option ID = 10978]
3. 3 [Option ID = 10979]
4. 4 [Option ID = 10980]

2) The open source P}.&h‘fﬂ[’ﬂl .CO'E-].].'SE Buﬂtier' on Whlch NPI‘EL courses are seen, wWas created b}'

(1) Mierosoft (2) Google
(3) Oracle (4) Wipro

477

(1) H=FEmE (2) T
(3) WA (4) =

[Question ID = 10246][Question Description = 107_00_General_46_0CT22_Q07]
1. 1 [Option ID = 10981]
2. 2 [Option ID = 10982]
3. 3 [Option ID = 10983]
4. 4 [Option ID = 10984]

3) In a learner centered teaching environment. teachers

(1) recognise that all learners are unique and utilise different teaching styles
(2) do not provide structure and direction

(3) make decisions about how and what learners will learn

(4) do not facilitate learner's decision making process

Tt Shiean TS ST | SIERR

(1)  =F 7 5 o4 Tend] 5= 2 o wdbien 3 Tfa= e s =1 53m 4 3
(2) == F = W= T8 e R
(8) iz =73 2 T Toemedf 35 = 0 dEd)
(4) ot it fom = 1 wfEE 1 9 96 9= A
[Question ID = 10247][Question Description = 108_00_General_46_0CT22_Q08]
1. 1 [Option ID = 10985]
2. 2 [Option ID = 10986]

3. 3 [Option ID = 10987]
4. 4 [Option ID = 10988]



4)  Koulberg's theory of moral development comprises of following stages -

{A)  Obedience orientation

(B)  Intellectual disability orientation
{C)  Rewards / Exchange orientation
(D) Law and order orientation

(E) Social contract orientation

Choose the most apprapriafe answer from the options given helow -

1) (A} (B). (C). (D) only
2y (A). (C). (D). (E) only
(3)  (B).(C), (D}, (E) only
(4)  (A). (B), D). (E) only

AT AloF [ 5§ g 8 3 Felaiey sEean aoEe F

(A) TR A EEE

B) digF FErEa FEEE
= ———

(E) =i diEa Aragamm

9 fom Mo fase 8 F HEE IS S F 949 e
(1) === (A). (B). (C), (D)

(2) = (A (C). (D). (E)

(3) = (B), (C), (D), (E)

(4)  F=E (A), (B). (D), (E)

[Question ID = 10248][Question Description = 109_00_General_46_0CT22_Q09]
1. 1 [Option ID = 10989]
2. 2 [Option ID = 10990]
3. 3 [Option ID = 10991]
4. 4 [Option ID = 10992]



5)  Match List I with List IT

List I
Child Development
(A) Cliques

(B) Crowds

List IT
Feature

Less intimate. more loosely organized
groups

General sense of oneself along with all
their beliefs, emotions and attitudes,

(C) Identity (III) Exploration with a
commitment to
occupational choices

(D) Moratorium (IV) Relatively
groups

personal

Choose the correct answer from the options given below :
(1) (A)-(IIT). (B)-IV). (C)-(I). (D)~(II)
(2) (A)-(I). (B)-(IID). (C)-(IV), (D)-(I)

(3) (A)-(D). (B)«(ID). (C)-(ID), (D)-(IV)
(4) (A)-(IV). (B)-(I). (C)-(I1), (D)-(I1D)

o= & =y g1 1 fee A

Tt TH1I
= -ferrE reta
&) T () 17 e, ST Feg =7 3 5075 TR
(B) == (D) =i fowami, s s ghaghe & @y
(€) wE=m (I =afF 4T =aaes =hedl = o0 mwiEd
UiAEEAT F Y S
@) eE-F (IV) e 212, HAm-TTie TE

4= 0 o e § 0 HE O 999 a0

(1) (A)-(III). (B)-(IV), (C)-(T). (D)-(II)
(2) (A)-(ID), (B)-(IIL), (C)-(IV). M)-@
(3) (A, (B)-(ID). (O)-(IID), (D)-(IV)
(4) (A)-(IV), (B)-(I). (C)-(IT}, (D)-(I11)

[Question ID = 10249][Question Description = 110_00_General_46_0CT22_Q10]
1. 1 [Option ID = 10993]
2. 2 [Option ID = 10994]
3. 3 [Option ID = 10995]
4. 4 [Option ID = 10996]

6)
If 3 survey 1s conducted telephonieally, which among the following statements 1s true?

(1) It improves guality of data {2)
(3 It reduces the cost of data collection (4}

It improves the validity research
Tt makes participants comfortable

Afe wIE Welerv SFAwEE & gregg ] Fa i) 7 4 fetafEa § @ #0956 20
(1) gHH &7 o) IUrEE 4 gy #ie 2 (2 =5y fafogrga iy 4 gun #m 2

(3) T T HYAT 0 A =2 7 (4) FHF FerawEy yfauel wEw uEaE e A

[Question ID = 10250][Question Description = 111_00_General_46_0CT22_Q11]
1. 1 [Option ID = 10997]

delay 1n

small. friendship based



2. 2 [Option ID = 10998]
3. 3 [Option ID = 10999]
4. 4 [Option ID = 11000]

7)  Match List I with List TT

TastI Tast 1T
Rezearch forms Description
{A) Qualitative Research (Iy  File drawer problem
(B) Quantitative Research (II) Convergence of findings
multiple methods
(C) Triangulation (III) Statistical analysis
(D) Metaanalysis (IV) Interpretive

Choose the correct answer from the options given below :
(1) (A)III), (B)-(II). (C)-(IV). (D)-(D)
(2) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(I)
(3  (A-D. (B)-IV). (O)-aL). (D)-(I1D)
4) (A)-(IID). (B)-(ID). (C)-(IV). (D)-(D

HH1-1 % #14 qH-I1 #1 foere fifm

T g
MY F WHE ferermn
(A) TEATEE WY (D wrge-gian et
(B) afrmmoee s (I) = fafwat o smarfa fept =1 afowm
(C) Tormitgsn (IID) =ifEgHE favemm
(D) FI-fazeru (IV) e

Hr9 e o fawedl § A w8 I @ 99 e
(1) (A)-(IID). (B)-(IT). (C)-(IV). (D)-(D)
(2 (A-IV). (B)-III), (C)-(ID), (D)-(D)
(3)  (A)D. B)-AV). (C)-aD), (D)-III)
(4)  (A-I). (B)-), (C)-IV), (D)«D

[Question ID = 10251][Question Description = 112_00_General_46_0CT22_Q12]
1. 1 [Option ID = 11001]
2. 2 [Option ID = 11002]
3. 3 [Option ID = 11003]
4. 4 [Option ID = 11004]

based



8) Following activities are related to the conduct of experiment in social research :

(&)
(B)
(C)
(D)
(E)

Control the experimental environment

Pilot test. revise and test

Empathy with the participants

Praising the good gualities of the participant

Specify the treatment levels

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B). (C) only
(B), (C). (E) only
(C). (D), (E) only
(A). (B). (E) only

ferafefea ey s oy 8§ gy %63 8 =g 2

(A)
(B)
(C)
(D)

(E)

ST TE, A SR
uferefai & =y gy
sfaardt & sr=: it 61 FwE w=

SAdEN o AT ! dAleE i

419 faw o el 0 @ @l IugE I 1 93 Aifau

(1
(2)
(3)

(4)

A (A), (B), (C)
A (B), (C), (B)
%ad (C), (D), (E)

A (A), (B). (E)

[Question ID = 10252][Question Description = 113_00_General_46_0CT22_Q13]
1. 1 [Option ID = 11005]
2. 2 [Option ID = 11006]
3. 3 [Option ID = 11007]
4. 4 [Option ID = 11008]



9)  Given below are two statements :

Statement (I):  If the length of a psychological test 1s Increased it improves both reliability
and vahdity.
Statement (IT) :  Score of a test can be interpreted without referring to its norm.

In the light of the above statements, Choose the most appropriate answer from the

options given helow :

(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) 12 correct but Statement (II) is Incorrect

(4) Statement (I) 12 incorrect but Statement (I1) 1s correct

Jr1 @1 e fou o #

Fe (D) : gfe i gamdantas afiem 6 a8 a=wE Fd 2 91 s98 favagdaa s daa 264
4 Hun A A
FeR (ID) : ot 9ftauy o STET Rl SATEN T9E OEF F1 D24 19U f=4T ) 9 OEdl 2

I HEA & wiers H, i fou o fawedi 0 8 wed suge T # 95 it

(1) & (1) 3 AD 541 581 2
2 FuR @) 3R @) T e 7
(8) & (1) HA 7, difeh %94 (1) 74 2

@) @ (@) TEAE 7, HfEA R 1D |6 R

[Question ID = 10253][Question Description = 114_00_General_46_0CT22_Q14]
1. 1 [Option ID = 11009]
2. 2 [Option ID = 11010]
3. 3 [Option ID = 11011]
4. 4 [Option ID = 11012]

10)  Which among the following is a valid eriticism of experimental methed in social sciences?
(1) Imposaible to conduet in social situation
(2) Artificiality of laboratory condition
(3) Unavailability good experiments in social sciences

(4) Soecial research problems eannot be studied experimentally



artae fasrm o Faafafed @ & =0 aenfes fafa 6 fEfa-um= g 20

(1)
(2)
(3)
(4)

wrfae feufq O 38 F sHya 2
SRANTIIEA <61 €90 21 HiAE e
A TasE O 3= WhF %) 96 98 AF)

AT 9T ) TR w1 SerdE e AN 9 FE A qd 2

[Question ID = 10254][Question Description = 115_00_General_46_0CT22_Q15]
1. 1 [Option ID = 11013]
2. 2 [Option ID = 11014]
3. 3 [Option ID = 11015]
4. 4 [Option ID = 11016]

11) Incommunication. meanings refer to a person's

(1)
(2)
(3)

(4)

Notions about the world
Internal responses to a message
Subsuming messages for suppression

External responses only

prias o Bl e e e g p e el e B

(1)

(2)

(3)

(4)

fawa & &0 4 gwom
feopel w1 wv syegrafer sEfEn
Frre < forn geun =1 aftifem s

[Question ID = 10255][Question Description = 116_00_General_46_0CT22_Q16]
1. 1 [Option ID = 11017]
2. 2 [Option ID = 11018]
3. 3 [Option ID = 11019]
4. 4 [Option ID = 11020]



12)

(A)
(B)
(©)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Which of the following are true with regard to mass communication

Messages are prepared by non-professionals
Messages are prepared by professionals
Meszsages are rapidly dizsseminated
Messages are supposed to be understood

Media audiences are homogenous

(A), (B). (C) only
(C). (D). (E) only
(B). (C), (I} only
(A), (D). (E) enly

F4 H9E & H99 § ofafEs O 3 =8 3 S99 19 2 7

(&)

(B)

(©)

()

(E)

Hewl i giwa g dan e = 6

Hew gfverl g1 dan fau d &)

Hewl &1 T | wEHE fFE A R

Hes B 9e 6 Al 8 fe 2 "y F)

difgan % wAwTEe FuEfi & 3|

49 fem o foereal § | w8 I 9 994 it .

(1)
(2)
(3)

(4)

Faw (A). (B), (€)
Hae (C), (D). (B)
Fa# (B), (C). (D)

F4e (A), (D). (E)

a

[Question ID = 10256][Question Description = 117_00_General_46_0CT22_Q17]
1. 1 [Option ID = 11021]
2. 2 [Option ID = 11022]
3. 3 [Option ID = 11023]
4. 4 [Option ID = 11024]



13) Given below are two statements :

Statement (I) : The disadvantage of inter-personal communication is the availability of
immediate feedback.

Statement (II) : The greatest advantage of mass communication 1s its delayved feedback

In the light of the above statements. Choose the most appropriate answer from the

options given below :

(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (IT) are incorrect
(3 Statement (I) 12 correct but Statement (II) is incorrect

(4) Statement (I) 1= incorrect but Statement (IT) is correct
49 71 e fau o @

Fe () : ¥ aftrer waw &) g At Sfagfe =i areream 2|

FeE (1) FA AN w TG I @Y 3996 Getan ufagie 2
I HYA & 3T 4, Jr fev u frmedi O 8 @ed 39gw I @ 999 da

(L) FFE D) W AD H HH #
@) &% (I) ¥ ({0 H1 T4 2
@ = (D EE 2, S FgE (1) TA 2

(4  FH (D)7 2, Al w29 (1D 981 2

[Question ID = 10257][Question Description = 118_00_General_46_0CT22_Q18]
1. 1 [Option ID = 11025]
2. 2 [Option ID = 11026]
3. 3 [Option ID = 11027]
4. 4 [Option ID = 11028]



14)

(A)
(B)
(C
(D)

(E)

Identify the correct sequence of information processing in communication

Input
Output
Data entry
Processing

Storage

Choose the correct answer from the options given below :

(1)
(2)
(3)

(4)

(A). (B). (E). (D). (C)
(B). (D). (E), (A). ()
(C). (A). (D), (E). (B)

(A), (C). (D), (E). (B)

HEW H HEA] UEH % HE 9 @ =i Hif

(A)
(B)
(C)
(D)

(E)

HleH (3792)

sfrdet (am3ee)

&d | ufafe (g vsl)
AT (SR

WEnY ()

41 feu e famedl § | 9 I % 994 ifu .

(1)
(2)
(3)

(4)

(A). (B). (E). (D). (C)
(B). (D). (E). (A4). (C)
(C). (A), (D). (E). (B)

(A). (©). (D). (E). (B)

[Question ID = 10258][Question Description = 119_00_General_46_0CT22_Q19]
1. 1 [Option ID = 11029]
2. 2 [Option ID = 11030]
3. 3 [Option ID = 11031]
4. 4 [Option ID = 11032]



15)

Match List I with List IT

(A)
(B)
(C)
(D)

Last I
Medium
Newspaper
Radio
Television

Film

Last IT
User vehicle
(I) URSA mini pro
(IT) Satellite dishes
(I1T) Electro magnetic waves
(IV) Rubber plate

Choose the correct answer from the options given bhelow :

(1)
(2)
(3)
4)

(A)-(IV). (B)-(ILD). (C)-(II), (D)-(I)
(A)-(IID). (B)-(I1). (C)-(D). (D)-(IV)
(A)-(ID), (B)-(D). (C)-(IV). (D)-(1ID)
(A)-(I). (B)-(II). (C)-(IID). (DIAIV)

~HelI % ®% g1 &1 e difau

(A)
(B)
(©)

(D)

He1

Ty

HHTET, 17
fwe

49 feu o faweT] 4 | 5E 3 %1 999 Fia

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(III). (C)-(IL). (D)T)
(A)(IIT), (B)-(ID). (C)-(D). (D)-(IV)
(A)ID. (B)-(I). (C)-(IV). (D)-(IID)
(A)D), (B)-(II), (C)-(TIT), (D)-(ITV)

HI-11

T AT
(I 3 AW uE e o
(I) #Hzermse feurs
(I0) sefagrsfees de

(IV) &% =2

[Question ID = 10259][Question Description = 120_00_General_46_0CT22_Q20]
1. 1 [Option ID = 11033]
2. 2 [Option ID = 11034]
3. 3 [Option ID = 11035]
4. 4 [Option ID = 11036]

16)

In a test consisting of 150 questions carrying 1 mark each. Rishab answered 80% of the first

75 guestions correctly. What percent of the other 75 questions does he need to answer

correctly to score 60% overall?

(1)

(3)

20

50

@) 40

4) 60



yed & fem | 3 gl 150 o1 <61 U gitew 3 foow g 98e 75 9uE § 4 80% & " 3 fon) &

60% UTHIE WY &7 & fee 3m 75 9odi § A faaa ofdem & 25 98 3R 23 707

(1) 20 2) 40

(3) 50 (4) 60

[Question ID = 10260][Question Description = 121_00_General_46_0CT22_Q21]

1. 1 [Option ID = 11037]

2. 2 [Option ID = 11038]

3. 3 [Option ID = 11039]

4. 4 [Option ID = 11040]

17) The simple interest on a sum of money is 1/9 of the principal and the number of vears is

equal to the rate percent per annum. The rate percent per annum is :

(1) 3% (2) 0.33%

(3) 3.35% (4) 2.35%

ferl eeprfer o weTY) T gE w9 w1 /9 # sioan] &1 den uiied & ufdee & e 2) v ad
D'fFTSTF[:ﬁ':

(1) 3% (2) 0.33%

(3)  3.33% 4) 2.33%

[Question ID = 10261][Question Description = 122_00_General_46_0CT22_Q22]
1. 1 [Option ID = 11041]
2. 2 [Option ID = 11042]
3. 3 [Option ID = 11043]
4. 4 [Option ID = 11044]

18) Given below are two statements :

Statement (I) :  One-fourth of sixty percent of a number is equal to two-fifth of twenty
percent of another number. Then the respective ratio of the first number to

the second number is 8:15.

Statement (IT) : A student is studying for a test from 11:00 am to 8:00 pm on weekdays and
one-third of that time on Saturday. On Sunday, he takes a break and goes
for a movie. The fractional part of the entire week that the student is
studying 1= 3/7.

In the hight of the above statements, choose the correct answer from the options given
below :

(1) Both Statement (I) and Statement (II) are true
(2 Both Statement (I) and Statement (IT) are false
(3) Statement (I) is true but Statement (IT) is false
{4) Statement (I) 1s false but Statement (II) is true



@ sy feu o 7

F2R () fae dem & |1e wfivm &1 oF G fa w2 gen & =m ufqem F @ 5 =l

| % A 2| A4 YAl 2 N gEf HE F STE HE 4 15 A

Fe[ (ID) : wrd faendl ot ofizn & fov gae & 3= T3 10 93 9\ |3 08 &3 013 a0

SIHER. @1 I HHY & UH [EE &1 766 #ia) 21 TEdn H 98 g8 Al 2 s gl
e 21§ A Faenell gm R wm arell werd @ it wm 377 2

I FYS & AETE 5, 9 T e fEesn 4 3 88 W @1 999 Hifau

(1)
(2
(3)
(4)

H2H () 30 (D) g1 5 2
9 () 31 (ID) §H1 516 2
weA (1) 57 7, HigA HYa (1) 39 2

F4A (I) 78 2, w23 (1) 9 2

[Question ID = 10262][Question Description = 123_00_General_46_0CT22_Q23]
1. 1 [Option ID = 11045]
2. 2 [Option ID = 11046]
3. 3 [Option ID = 11047]
4. 4 [Option ID = 11048]

19)

Given below are two statements :

Statement (Il : A man sells his goods at 10% profit. If he sells his goods at 15% profit. he

gets T 160 more. The cost price of his goods is T 4.200.

Statement (II) : A man spends 80% of his earmings. His earnings increased by 25% and his

expenses Increased by 20%. The man’s savings thus increased by 456%.

In the light of the above statements, chooze the correct answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) 1s true but Statement (IT) 1= false
(4) Statement (I) is false but Statement (II) is true



49 71 #ee feu mu # .

Heg (@) : w2 &fh 10% &9 T A 9§90 2] 9 F8 15% oY 9 =59 oA 39 160 F
HR FUe | 39 GTE & A0 5o9 4,200 . 7l
F (1D - #1E wdfh T HE *1 80% @9 i1 2| 3Heh W™ ° 25% 3T 39 wE T 20%
&1 =gl 741 39 wan 34 =Afm F 79d 4 45% F Ggr 7@l
ITH FY4 & AFS 4, i fou o fasedi 4 8 58 g = =91 Fifau .
(1) A (@) 31 @) 241 974 2
@) wuE (1) 0 3D EH 3 B
(3) &Y (D) ¥4 2, dfFa &9 (1) 75 2
4) &R (D) ¥HA B, dfFd F949 (1) 99 7
[Question ID = 10263][Question Description = 124_00_General_46_0CT22_Q24]
1. 1 [Option ID = 11049]
2. 2 [Option ID = 11050]

3. 3 [Option ID = 11051]
4. 4 [Option ID = 11052]

20) A man who can swim 48 meter/minute in still water swims 200 meter against the current
and 200 meter with the current. If the difference between these two times is 10 minutes, then

what 1= the speed of the current?
(1) 30 meter/minute (2y 31 meter/minute
(3 29 meter/minute (4} 32 meter/minute

F7% SATF A1 5 7 8 48 Hiz /2 F1 T F A0 FFAT 7. 200 T 990 % @Eg #7200 W 967 F @Y
T 2| =2 37 ZHT T F = S 10 T # A am fy ufa F et

(1) 80 drz/fusz (2y 31 drex /e
(3) 29 di/fgae (4) 32 iz /fag

[Question ID = 10264][Question Description = 125_00_General_46_0CT22_Q25]
1. 1 [Option ID = 11053]
2. 2 [Option ID = 11054]
3. 3 [Option ID = 11055]
4. 4 [Option ID = 11056]



21)

Given below are two statements : One is labelled as Assertion (A) and the other is labeled as
Reason (R).

Asgertion (A4): A valid deductive argument with all true premises will lead to a true

conclusion.

Reason (R) : In a valid deductive argument, the conclusion follows from the premises

with absolute necessity.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3 (A) iz true but (R) iz false

(4) (A) 1s false but (R) is true

A @1 FA feu Mo 2 v Sf9EEA (Assertion A) % ¥ H feifiga 2 A1 297 I FW (Reason R)

A (A) | weg snarETE dre a9 Feres ad deg e s s s
FMM (R): TF 39 RS 5, e 39 3E 99§ AEaE 'Y 4 e

29I HYH] % e H, = fav o fgeed 0 | |8 3 #9251 Fifau

(1)
(2)
(3)

4)

(A) 3T (R) 241 579 2 300 (R). (A) F1 & = 2
(A) 3 (R) ZHT T 2, oA (R), (A) i B == 771 2
(A) &= 2, @il (R) 39 2

(A) 3157 2, dfed (R) 579 2

[Question ID = 10265][Question Description = 126_00_General_46_0CT22_Q26]
1. 1 [Option ID = 11057]
2. 2 [Option ID = 11058]
3. 3 [Option ID = 11059]
4. 4 [Option ID = 11060]



22)

Match List I with List IT
ListI List I
In a square of opposition Resultant
(A) ‘A’ being given as true {h O is undetermined
(B} ‘E being given as true (II) T 13 undetermined
(C) T being given as true (III} ‘T 1s true
(D) 'O being given as true (IV) T is false

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(IV). (C)-(D), (D)(I1I)
(2) (A)-(IV). (B)-(1), (C)-(ILI). (D)-(1I)
(3) (A)-(D). (B)-(IV), (C)-(ID). (D)~(ILL)
(4) (A)-(III). (B)-IV). (C)-@). (D)-(IL)

HET % =1y Y111 1 faerns ifan

I FHI-IT

Feret &l Bz
(A) A | HA & ®Y Y g 7 A M O HHETEA 2
(B) 'E @ ¥ & ¥4 ° HE] T B (I) T wfafvaa 2
(C) T %l 74 & 1 4§y I 2 I TH3 2
(D) 'O = T & B U gy T B (IV) T 3% 2

= feu mu fawem § § |1 39 1 F99 Hifau .

(1) (AN, B)-IV). (C)-(D. (D)-(I1I)
(2) (A)-IV). (B)-(I). (C)-(1II), (D)-(1D)
(3) (A)-(I), B)-(IV), (C)«IT), (D)-(IIT)
(4) (A)(IID), (BY-(IV). (C)-(D). (D)-(IT)

[Question ID = 10266][Question Description = 127_00_General_46_0CT22_Q27]
1. 1 [Option ID = 11061]
2. 2 [Option ID = 11062]
3. 3 [Option ID = 11063]
4. 4 [Option ID = 11064]



23)

Which one of the following formal fallacies is committed in the given argument?
ATl snakes are reptiles.

Some snakes are polsonous creatures.

Therefore all polsonous creatures are reptiles.

(1) Fallacy of Ilicit process of major term

(2) Fallacy of Tllicit process of minor term

(3 Fallacy of undistributed middle term

(4) Fallacy of four terms

=0 T 55 4 FH T ST A R

w1 Al faver <fm wdme )

(1

(4)

T 9% F1 #4949 WA A
TTeA U2 1 daaia 2

[Question ID = 10267][Question Description = 128_00_General_46_0CT22_Q28]
1. 1 [Option ID = 11065]
2. 2 [Option ID = 11066]
3. 3 [Option ID = 11067]
4. 4 [Option ID = 11068]



24 ‘
) Given below are two statements :

Statement I: An inference which iz based on the middle term being only positively
related to the major term is called Kevalanvayi.

Statement IT:  In Kevalanvayl anumana. the knowledge of vyapti between the middle and
major terms is arrived at through the method of argument in absence.

In the light of the ahove statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement IT1s falze

(4) Statement I is false but Statement II 1s true

99 2 %y fau o 3

F4 (@D : q1e 92 B ¥ 98 % HENAds a9 W oAEHE siufa wae i s 2
U (1) : FaE sl sHEE 8 2q iR w1 v W ot e ) S sy fafa & oy
| Al El

IUTH FYF & e |, F9 fov au fawed 9 8 w8 3o 959 Fifa

(1) oA @ 30 [ &1 7 2

(2) @A (@) 30 (I €1 sE 8

(3)  wUa (1) 59 2, dfda Fo (1) 599 7
(4)  FU @) 5= 2, A ®49 (1D 9 2

[Question ID = 10268][Question Description = 129_00_General_46_0CT22_Q29]
1. 1 [Option ID = 11069]
2. 2 [Option ID = 11070]
3. 3 [Option ID = 11071]
4. 4 [Option ID = 11072]



25) @Given below are two statements : One is labelled as Assertion (A) and the other is labeled as

Reason (R).
Assertion (A) : Sound iz non eternal. because it 1s caused.
Reason (R) : The middle term does not prove the eternality of sound but it's

non-eternality,

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) 12 the correct explanation of (A)
3] Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 12 true but (R) iz false

(4) (A) iz false but (R) is true

= g1 weyq fev o 2 2 v AfEYT (Assertion A) & Y § fHfimg 2 A gHT T #1 (Reason R)

& EY O
FTTFRET (A) ¢ £FH AT ¢ FIF 98 399 a1 2
A9 (R) T4, AT I TMTEAA] THIUIE 98] FAT 8 99 3HE] - Ieadar #l S0 w49l el

I FUF] & W 8, A fou e fasel 0 8 g8 3 @ 999 it

(1 (A) 3 (R) 2Hi g 2 3 ®). (A) 1 58 sre 2

(@) (A 3 (R)dHI F 2, dfE [R), (A) B =) =men 16 2
3 (A= A R) 95 2

(4)  (A) 3 2, S R) 57 R

[Question ID = 10269][Question Description = 130_00_General_46_0CT22_Q30]
1. 1 [Option ID = 11073]
2. 2 [Option ID = 11074]
3. 3 [Option ID = 11075]
4. 4 [Option ID = 11076]

26) A software is termed as an open source software if

(1) the developer company izopen 24 x 7

() its souree code 1s available to share. study and modify
(3 1t can be downloaded from the Internet

(4 1t is available free of cost



foreft wigea &1 3 918 Sivedm F21 519 2 gfe

(1
(2)
(3)
(4)

SAAH | Al @ JAl 3 gl 21

| HH T2 {9, seEs e g & fem g 2
T TR sredrE o 2y

T fA-9e 3Tt B

[Question ID = 10270][Question Description = 131_00_General_46_0CT22_Q31]
1. 1 [Option ID = 11077]
2. 2 [Option ID = 11078]
3. 3 [Option ID = 11079]
4. 4 [Option ID = 11080]

27)

Identify the correct arrangement of the following different types of computer networks in the
descending order of their geographic area coverage.

() MAN
(B) WAN
(C) LAN

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B). (C)
(B). (C). (A)
(B). (A). (C)
(C). (A). (B)

H A2 & FefetEa faa v & 39 eitas a5 Faid & FHER F6 sEiE FH 6 e w1 o

(A)
(B)
(&)

MAN (7§ U 04)
WAN (Zeeq U 1)
LAN (U# U 14)

419 fau m fapeTl § § #E 39 %1 994 Fifau

(1)
(2)
(3
(4)

(A). (B), (C)
(B). (C). (A)
B). (A). (C)
(C). (&), (B)

[Question ID = 10271][Question Description = 132_00_General_46_0CT22_Q32]
1. 1 [Option ID = 11081]
2. 2 [Option ID = 11082]
3. 3 [Option ID = 11083]
4. 4 [Option ID = 11084]



28)  Given below are two statements in respect of Computers :

Statement (I) : A DVD-ROM is an optical storage media and it ¢an be written many times.

Statement (IT) : Software is loaded into secondary storage from RAM and is then executed
by CPU.

In the light of the above statements. Choose the correet answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) 1s true but Statement (II) 1s false

{4) Statement (I) 1s false but Statement (II) is true

S 21 e fan o # 5 e | et

FYA () : Zefrd)-fm (DVD-ROM) U3 siffree 27a difen 2 3fv 39 @ 9@ an foay =
Al 7

Fed (1) - HEgH W (RAM) H Hbeil Wi § 5@ S 2 HE aewEE O 1 g gn
fromfea faran sman 21

I HUA = AT °, 919 fev o famwed O 8 w8 I @ 99e S

(1) == (@) 30 D) 24 5 2
(2)  ®uF (T) 30 (I0) &F1 35 2
(3)  wud ()T 2, @iFA FeE (1D #5949 2

(4) &R (D) ¥99 2, dfF 99 () 99 7

[Question ID = 10272][Question Description = 133_00_General_46_0CT22_Q33]
1. 1 [Option ID = 11085]
2. 2 [Option ID = 11086]
3. 3 [Option ID = 11087]
4. 4 [Option ID = 11088]



29) Which of the following file formats are appropriate for distributing video files across the

internet?

(A) .FLA
(B) MP3
(C)  .WMA
(D) .AIF
(E) .AVI

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (A) and (E) only
(3) (D) and (E) only

(4) (C) and (D) only

Seie T difed] wrel o faam & fom Fefafen 0 F wF 8 wEa s 3w 47

(A) FLA
(B) MP3
(C) JWMA
() ATF
(E) AVI

A fan e famedi 8 & w0 = Hifa
(1) @A (B) 311 (C)
(2)  HEE (A) 3 (E)
(3) %A (D) 3 (E)
(4)  FAEE (C) 31N (D)

[Question ID = 10273][Question Description = 134_00_General_46_0CT22_Q34]
1. 1 [Option ID = 11089]
2. 2 [Option ID = 11090]
3. 3 [Option ID = 11091]
4. 4 [Option ID = 11092]



30) Mateh List I with List IT

List T TastIT

(File extension) (File type)
(A) mp3 (I) 1image
(B) xl= (I) music
(C) jpeg (I} database
(D) mdb (IV) spreadsheet

Choose the correct answer from the options given below :
(1) (A)-(D). (B)-(IV), (C)-(II), (D)-(IIT)
(2} (A)-(ID), (B)-(IV), (C)-(I}, (D)-(I1D)
(3) (A)-(D). (B)-(IV). (C)-(I1I}. (D)-(D
(4) (A)-(I1T). (B)-(II). (C)-(I). (D)«(IV)

g1 & @14 gH-11 &1 e $ifao

I HH1-1T
(FT5e TRIETH ) (FTEA 2E9)
(4) mp3 (I) 344
B) xls (II) =afah
(C) jpeg (L) =Tered
(D) mdb av) =revie

4= fau mu fampedt § 9§ wE1 I 1 =9 i

(1) (A)-(D, (B)-(IV), (C)-(ID), (D)-(11I)

(2) (A)-(ID. (B)-(IV), (C)-(I), (D)-(11I)

(3) (A)-(II). (B)-(IV). (C)-(III). (D)«(T)

(4 (A)-(IID). (B)-(ID). (C)-(D. (D)-(IV)
[Question ID = 10274][Question Description = 135_00_General_46_0CT22_Q35]
1 [Option ID = 11093]
2 [Option ID = 11094]

3 [Option ID = 11095]
4 [Option ID = 11096]

A wWN =



31) Identify the correct sequence of average noise levels in increasing order of their magnitude

from different sources.

(A) City street corner

(B) Conversational speech

(C) Highway

(D)  Aircraft noise during take off

(E) Typical office

Choose the correct answer from the options given below :

(1) (E), (A). (B). (©). (D)
(2)  (B), (B), (A). (O). (D)
(3 (B). (E). (A (O). (D)
(4) (@B (E), (A), D). (C)

fafim =a1 § 37 afmq @l =90 $ 9 & UF 90E $8 F) wEE =)

(A) S &I HI% F HH

(B) @ HET

(Cy  wramr

(D)  33M W 99y 9rggE 6 @Al

(E) HMEW Higle

A fau m fasedi 6 3 w3 w1 9 Hifa
(1)  (E) (A), (B).(C). (D)

(2) (E). (B). (A). (C). (D)

(3) (B (E). (A). (C). (D)

@) (B (E). A D).(©

[Question ID = 10275][Question Description = 136_00_General_46_0CT22_Q36]
1. 1 [Option ID = 11097]
2. 2 [Option ID = 11098]
3. 3 [Option ID = 11099]
4. 4 [Option ID = 11100]



32) @iven below are two statements : One is labelled as Assertion (A) and the other is labeled as

Reazon (R).
Assertion (A):  Energy produced from biomass is considered ‘earbon neutral’.
Reaszon (R) : Biomass does not add CO- to the atmosphere,

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

419 €1 %o fou w2 ;o sifyEe (Assertion A) % ®u ¥ feifiga 2 41 g9 29% FMW (Reason R)

HE9d
SFTH (A) @ <4 UEld (FEEW) 9 3099 3491 H FEA FEE IE F61 2
FAM (R) <4 H2fa (SEmE) FEEm § CO, A7 FEmT 2

IATE FHT o Al H, AT fou mu famwedi § A 9= 39 39 &1 999 S

1) (A) Al ®) 7 HE A 3R (R), (A) 1 wE SR R

(2) (A #HE (R) 241 |1 2. AREA (R). (A) 1 wF smEn 96 2

3) (AT R, @i (B) 9F 98 2

@ (A FE 2, af () 79 2
[Question ID = 10276][Question Description = 137_00_General_46_0CT22_Q37]
1. 1 [Option ID = 11101]
2. 2 [Option ID = 11102]

3. 3 [Option ID = 11103]
4. 4 [Option ID = 11104]



33) What is the correct order of Global Warming Potential (GWP) of following atmospheric

chemical species?

(A) Chlorefluro Carbon (CFC)
(B) Methane (CHa)

(C) Carbon dioxide (CO2)

(D) Nitrous oxide (N20)

Choose the correct answer from the options given below :
(1) D=B=C=A
£2) C<B=D<A
(3) A=B=C=D
(4) A=C=D<B

frafefign ammnia weE % wea aiin g2foge (i zag ) #1968 % =2 20

(8)  FEEMER FE (H O )
(B) %M (CHy

(C) e =rEsfadEs (CO2)
(D)  A1EZA HEEEE (N20)

= fou e el § 9 o 3w %1 w99 Fifao .

(1 D=B=C=A
(2) C=B<D<A
(3) A=B=C=D

(4 A=C=D<B

[Question ID = 10277][Question Description = 138_00_General_46_0CT22_Q38]
1. 1 [Option ID = 11105]
2. 2 [Option ID = 11106]
3. 3 [Option ID = 11107]
4. 4 [Option ID = 11108]



34)  Given below are two statements :
Statement I : Classical smog 1s formed when oxides of nitrogen combine with particulate
matter especially in summer season.
Statement 11 : Classical smog reduces atmospheric visibility to a great extent.

In the hght of the above statements. choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement T is true but Statement IT is false

(4) Statement I is false but Statement II 1s true

491 21 wee fan o E

F1 (D) ; fasr. mif % dEg 4 Adem % seEEss & TidEae O & @y s 8
FeATT e S &9 2
F74 (10) : FATIFA TN TPHEA #1 59941 954 72 aF 921 &1 2

I FYA % ATelE O, 419 feu o fawesl § 8 98 3T & 9ad il

(1) e (D) 30 1D &+ 37 2

(@  HA (D) I AD 1 SEE E

(3)  wEA (1) & 7, Al ®eR (1D 39 2
(4)  &FE (1) 3¥EEF 2, ik F24 (1) 5 2

[Question ID = 10278][Question Description = 139_00_General_46_0CT22_Q39]
1. 1 [Option ID = 11109]
2. 2 [Option ID = 11110]
3. 3 [Option ID = 11111]
4. 4 [Option ID = 11112]

33) Source of arsenic pollution in the ground water is
(1) Industrial ettluents (2) Deep underground formations
(3) Dyeing industries (4) Agricultural wastes

W T 0 ATl g w6 e R

(1)  sirnfme &= (2)  TEa Yy e

(3)  Tah @M (4) FN e
[Question ID = 10279][Question Description = 140_00_General_46_0CT22_Q40]
1. 1 [Option ID = 11113]

2. 2 [Option ID = 11114]
3. 3 [Option ID = 11115]



4. 4 [Option ID = 11116]

36) Ty ancient Tadian education system. learners were given training in following occupations in

the fields of

(A) Architecture

(B) Animal Husbandary
(C) Agviculture

(D) Administration

(E) Dairy farming
Choose the correct answer from the options given below :
(1) (A). (C). (E) only

(2) (B). (C). (E) only

(2) (A); (B). (C). (E) only
(4) (B). (C). (I). (E) only

ol o o

= SR 5 9gia o, SARrshalal w1 HEieigs giod S5 0 9 9gE e e A

(A) T

(B)  TE-TEH

(€ =M
(D)  wEmEA
(E) -39

Choose the correct answer from the options given below::

(1) =34 (A). (0).(E)
(2) &4 (B). (O). (E)
(3) 3 (A). (B (C). (E)
(4)  =FEA (B). (C). (D). (E)

[Question ID = 10280][Question Description = 141_00_General_46_0CT22_Q41]
1. 1 [Option ID = 11117]
2. 2 [Option ID = 11118]
3. 3 [Option ID = 11119]
4. 4[Option ID = 11120]

37)  Which among the following was proposed by Kothar commission vis-a-vis language?

(1) Use of mother tongue as a medium of instruction
(2) Use of Hindi as a medium of instruction

(3) Two-language formula

(4) Three language formula



ur o Hey ° el wrEm & fastafaa O 8 wn g e

(1) 9= T1em % &9 8 91 W FE

(2)  3FEIF =YW % w9 fE e

(3) Tg-wm

4y FB-amwmE3

[Question ID = 10281][Question Description = 142_00_General_46_0CT22_Q42]
1. 1 [Option ID = 11121]
2. 2 [Option ID = 11122]

3. 3 [Option ID = 11123]
4. 4 [Option ID = 11124]

38) A envisaged 1n National Education Policy (2020). all Hizher Educational Institutions will
aim to have a student strength of —————— hy 2040.
{1) = 5000 i2) =4000
(3) = 3000 (4) =2500

e T g e ifa (2020) # fa=m e 0 & 5 99 2040 % w1 5= Sifigs weanedt § Tt
T FA R —— 7|

(1)  =5000 (2)  =4000

(3)  =3000 (4) =2500

[Question ID = 10282][Question Description = 143_00_General_46_0CT22_Q43]
1. 1 [Option ID = 11125]
2. 2 [Option ID = 11126]
3. 3 [Option ID = 11127]
4. 4 [Option ID = 11128]

39)  Given below are two statements : One 1s labelled as Assertion (A) and the other is labeled a3
Reason (R).

Assertion (A):  Universities and higher education institutions are the important
foundatiens to the growth of any country.

Reason (R) : Intellectual property right acts as a shield for invention to be misused by
third parties.

In the light of the above statements, choose the most appropriate answer from the options
‘e1ven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 12 correct but (R) 1= not correct

(4 {A) 18 not correct but (R) is correct
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1. 1 [Option ID = 11129]
2. 2 [Option ID = 11130]
3. 3 [Option ID = 11131]
4. 4 [Option ID = 11132]

40)

(1)
(2)
(3)
()

In the context of vocational education. the orgamsation NSDC' i=

National Skill Development Couneil
National Skill Development Corporation
National Slall Documentation Centre
National Sector Development Corporation

SAEHIE Er & Hed 4, v ug 2 @ A8 w1 A9 o

(1)
(2)
(3)
(4
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1. 1 [Option ID = 11133]
2. 2 [Option ID = 11134]
3. 3 [Option ID = 11135]
4. 4 [Option ID = 11136]
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1
) Read the following passage and answer questions from 46 to 50.

Television 1s a cultural commodity. It works within an economically determined capitalist
economy. but when we have said that about it we have said both much and remarkably little.
There is a financial economy within which wealth circulates, and a cultural economy within
which meanings and pleasures circulate, and the relationship between them 1= not as
determinmistic as some theoristz have proposed. In ‘the financial economy, television
symbolises programmes and advertisements, not textualityv. A programme is a commodity
produced and then sold to distributors. In distribution, its role changes and it becomes not a
commodity, but a producer, and what it produces is a new commodity, the audience which is
then. in its turn, sold as a commodity to advertisers. The ramifications of this financial
economy are fascinating. Here the role shift undergone by the programme in the financial
economy-that from commodity to producer-1s now undergone by the audience, who are left as
a commodity sold to the advertiser. But in the cultural economy the audience rejects its role
as a commodity and becomeg a Producer. a Producer of meanings and pleasures, and at this
moment stops being ‘an audience’ and becomes different materialisations of the process that
we call “viewing television”. While the metaphor of a cultural economy is a productive one.
we must not let it blind us to differences between it and the financial. Meanings and
pleasures do not circulate in the cultural economy in the same way that wealth does 1n the
financial. In the first place there 1s no exchange of money at the point of sale or consumption.
Televizion appears to be free. however. it may be actually paid for. Payment has no direct
relationship to consumption-people can consume as much as they wish and what they wish
with no thought of what they are able to afford.
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When we consider television as a product . then it operates in a/an

(1) Deterministic cultural system (2) Circulatory commercial system

(3) Audience power system (4) Distributive pleasure system

| W SATGSH &1 U 39 04 # A1 98

(1)  TrEgems Aisias 7 0 WEfed 2 2 (2) TR saaHEiEs 73 1 gEiien w2
(8) &9k Wi A9 &% = e (4) TauTenE 9= T 0 Yeed Bl 2
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1 [Option ID = 11137]
2 [Option ID = 11138]
3 [Option ID = 11139]
4 [Option ID = 11140]
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2
) Read the following passage and answer questions from 46 to 50.

Television 1s a cultural commodity. It works within an economically determined capitalist
economy. but when we have said that about it we have said both much and remarkably little.
There is a financial economy within which wealth circulates, and a cultural economy within
which meanings and pleasures circulate, and the relationship between them 1= not as
deterministic as some theoristz have proposed. In ‘the financial economy, television
symbolises programmes and advertisements, not textuality. A programme is a commodity
produced and then sold to distributors. In distribution, its role changes and it becomes not a
commodity, but a producer, and what it produces is a new commodity, the audience which 1is
then. in its turn, sold as a commodity to advertisers. The ramifications of this financial
economy are fascinating. Here the role shift undergone by the programme in the financial
economy-that from commodity fo producer-is now undergone by the audience, who are left as
a commodity sold to the advertiser. But in the cultural economy the audience rejects ites role
as a commodity and becomes a Producer, a Producer of meanings and pleasures. and at this
moment stops being ‘an audience’ and becomes different materialisations of the process that
we call “viewing television”. While the metaphor of a cultural economy is a productive one.
we must not let it blind us to differences between it and the financial. Meanings and
pleasures do not circulate in the cultural economy in the same way that wealth does in the
financial. In the first place there is no exchange of money at the point of sale or consumption.
Television appears to be free. however. it may be actually paid for. Payment has no direct
relationship to consumption-people can consume as much as they wish and what they wish
with no thought of what they are able to afford.
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In distribution television becomes

(1) Cultural commedity (2) Producer of a new commodity

(3) Purveyor of textuality {4) A source of theorisation



feerm & @, 2Eifase 59 F 2 .

(1) T T (2) Uk A T ] IS

(3)  fawmas & THaEs (4) HAzifad a9

[Question ID = 10286][Question Description = 147_00_General_46_0CT22_Q47]
1 [Option ID = 11141]
2 [Option ID = 11142]
3 [Option ID = 11143]
4 [Option ID = 11144]

A w N =

3 . .
) Read the following passage and answer questions from 46 to 50.

Television is a cultural commodity. It works within an economically determined capitalist
economy. but when we have said that about it we have said both much and remarkably little.
There is a financial economy within which wealth circulates, and a cultural economy within
which meanings and pleasures circulate. and the relationship between them is not as
determinmistic as some theorists have proposed. In ‘the financial economy, television
syvmbolises programmes and advertisements, not textuality. A programme is a commodity
produced and then sold to distributors. In distribution, its role changes and it becomes not a
commodity, but a producer, and what it produces is a new commodity. the audience which is
then. in its turn, sold as a commodity to advertisers. The ramifications of this financial
economy are fascinating. Here the role shift undergone by the programme in the financial
economy-that from commodity to producer-is now undergone by the audience, who are left as
a commodity sold to the advertiser. But in the cultural economy the audience rejects its role
as a commodity and becomes a Producer, a Producer of meanings and pleasures, and at this
moment stops being ‘an audience’ and becomes different materialisations of the process that
we call “viewing television”. While the metaphor of a cultural economy is a productive one,
we must not let it blind us to differences between it and the financial. Meanings and
pleasures do not circulate in the cultural economy in the same way that wealth does in the
financial. In the first place there is no exchange of money at the point of sale or consumption.
Television appears to be free. however. it may be actually paid for. Payment has no direct
relationship to consumption-pecple can consume as much as they wish and what they wish
with no thought of what they are able to afford.
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What are the ramifications of television as a commeodity in financial economy?

(1) Making huge profits (2) Importance to distribution channels

{3) Audience for advertisers (4) Eneculturisation of audience

fadfra Aderasen 4 vk a5 & &9 4 ZAifgd & #491 Sl 27
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4
) Read the following passage and answer questions from 46 to 50.

Televizsion is a cultural commodity. It works within an economically determined capitalist
economy. but when we have said that about it we have said both much and remarkably little.
There is a financial economy within which wealth circulates, and a cultural economy within
which meanings and pleasures circulate. and the relationship between them iz not as
determimstic as some theoristz have proposed. In the financial economy, televizsion
svmbolises programmes and advertisements, not textuality. A programme is a commodity
produced and then sold to distributors. In distribution, its role changes and it becomes not a
commodity, but a producer, and what it produces is a new commodity, the audience which 1s
then. in its turn, sold as a commodity to advertisers. The ramifications of this financial
economy are fascinating. Here the role shift undergone by the programme in the financial
economy-that from commodity o producer-s now undergone by the audience, who are left as
a commodity sold to the advertiser. But in the cultural economy the audience rejects its role
as a commodity and becomes a Producer, a Producer of meamngs and pleasures, and at this
moment stops being ‘an audience’ and becomes different materialisations of the process that
we call “viewing television”. While the metaphor of a cultural economy is a productive one.
we must not let it blind us to differences between it and the financial. Meamings and
pleasures do not circulate in the cultural economy in the same way that wealth does 1n the
financial. In the first place there 1s no exchange of money at the point of sale or consumption.
Television appears to be free. however. it may be actually paid for. Payment has no direct
relationship to consumption-people can consume as much as they wish and what they wish
with no thought of what they are able to afford.
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How viewing television in a cultural economy affects the audience?

(1) Audience azsume a new role

(2) They become a new commodity

(3) They cannot differentiate between the financial economy and cultural sconomy
4 Audience restrict the circulation of meanings and pleasures
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5
) Read the following passage and answer questions from 46 to 50.

Television 1s a cultural commodity. It works within an economically determined capitalist
economy. but when we have said that about it we have said both much and remarkably little.
There is a financial economy within which wealth circulates, and a cultural economy within
which meanings and pleasures circulate, and the relationship between them 1= not as
determinmistic as some theoristz have proposed. In ‘the financial economy, television
symbolises programmes and advertisements, not textualityv. A programme is a commodity
produced and then sold to distributors. In distribution, its role changes and it becomes not a
commodity, but a producer, and what it produces is a new commodity, the audience which is
then. in its turn, sold as a commodity to advertisers. The ramifications of this financial
economy are fascinating. Here the role shift undergone by the programme in the financial
economy-that from commodity to producer-1s now undergone by the audience, who are left as
a commodity sold to the advertiser. But in the cultural economy the audience rejects its role
as a commodity and becomeg a Producer. a Producer of meanings and pleasures, and at this
moment stops being ‘an audience’ and becomes different materialisations of the process that
we call “viewing television”. While the metaphor of a cultural economy is a productive one.
we must not let it blind us to differences between it and the financial. Meanings and
pleasures do not circulate in the cultural economy in the same way that wealth does 1n the
financial. In the first place there 1s no exchange of money at the point of sale or consumption.
Televizion appears to be free. however. it may be actually paid for. Payment has no direct
relationship to consumption-people can consume as much as they wish and what they wish
with no thought of what they are able to afford.
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What 15 unigue about televizion audience in a cultural economy?

(1) They are non-stop producers of meanings
() Theyv cannot fathom the finer nuances of financial economy
(3) They do not pay for content consumption

(4) They can consunie as much sans affordability
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